Whitman College

Econ 102

Final Exam

May 19, 2009

Write all answers on your exam.  Show all of your work.  The exam ends at 11:30.

1.  (a)  (5pts)  Define real Gross Domestic Product.

(b)  (10pts)  Define potential real Gross Domestic Product.  Explain how economists determine what potential real GDP is.

(c)  (10pts)  Is the United States economy currently producing at potential real GDP?  Explain how you can tell.

2.  Consider a fictional price index, the College Student Price Index (CSPI), based on a survey of annual purchases of a typical college student.  The table below shows information on the market basket for the CSPI.  The table also shows the prices of each of the goods in 2006, 2007 and 2008.  The base year is 2006.

	Item in Basket
	Quantity in Basket
	2006


	2007


	2008

	
	
	Price      Cost of 

                basket
	Price      Cost of  

               basket
	Price      Cost of

             basket

	Notebooks
	10
	$5
	$50
	$7
	
	$11
	

	Calculators
	1
	$100
	$100
	$110
	
	$140
	

	Large Coffees
	150
	$1
	$150
	$1
	
	$1
	

	Colas
	50
	$2
	$100
	$3
	
	$4
	

	Textbooks
	10
	$100
	$1,000
	$120
	
	$150
	

	Total Cost
	
	
	$1,400
	
	
	
	

	
	
	
	
	


(a)  (5pts)  The cost of each item in the basket, and the total cost of the basket, is shown for 2006.  Perform these same calculations for 2007 and 2008 and enter the results in the table.

(b)  (15pts)  What is the CSPI in 2006?

What is the CSPI in 2007?

What is the CSPI in 2008?

(c)   (10pts)  What is the inflation rate between 2006 and 2007, according to the CSPI?

What is the inflation rate between 2007 and 2008, according to the CSPI?

(d)  (5pts)  Which of the following, if true, would illustrate why price indexes like the CSPI might overstate inflation in the cost of going to college?  Check all that apply.

____  The quality and design of calculators improved dramatically from 2006 to 2008.  

_____ Professors required students to buy 10 textbooks each, regardless of the price.

_____ As the price of textbooks increased, more and more students turned to the used-book market or read copies on reserve at the library.

3.  Consider the speech Federal Reserve Chairman Ben Bernanke made on April 14, 2009 at Morehouse College, which you read for class.  

(a)  (15pts)  In this speech, Chairman Bernanke lists the mandates the Federal Reserve has from Congress.  What are the three goals Congress expects the Fed to achieve?

In this speech, Chairman Bernanke describes conditions under which the Federal Reserve will act to raise the federal funds rate.  The following excerpt deals with those conditions.

Although inflation seems set to be low for a while, the time will come when the economy has begun to strengthen, financial markets are healing, and the demand for goods and services, which is currently very weak, begins to increase again. At that point, the liquidity that the Fed has put into the system could begin to pose an inflationary threat unless the FOMC acts to remove some of that liquidity and raise the federal funds rate. We have a number of effective tools that will allow us to drain excess liquidity and begin to raise rates at the appropriate time; that said, unwinding or scaling down some of our special lending programs will almost certainly have to be part of our strategy for reducing policy stimulus once the recovery is under way.

(b)  (20pts)  What procedure does the Fed use for raising the federal funds rate?  Why does this procedure raise the federal funds rate?  Be sure to include a definition of the federal funds rate in your answer.

(c)  (15pts)  When the Fed uses the procedure you described in part (b), what happens to the money supply?  Be as explicit as possible in your answer.  Why does this procedure affect the money supply in the way you described?  Be sure to include a definition of the money supply in your answer.

Consider the following four paragraphs, which come from a speech President Obama gave on April 14 at Georgetown University, which you read for class.  In these paragraphs, he is describing the administration’s recovery plan for dealing with the current recession.  

The first step was to fight a severe shortage of demand in the economy. The Federal Reserve did this by dramatically lowering interest rates last year in order to boost investment. And my administration and Congress boosted demand by passing the largest recovery plan in our nation's history. It's a plan that is already in the process of saving or creating 3.5 million jobs over the next two years. It is putting money directly in people's pockets with a tax cut for 95% of working families that is now showing up in paychecks across America. And to cushion the blow of this recession, we also provided extended unemployment benefits and continued health care coverage to Americans who have lost their jobs through no fault of their own.

Now, some have argued that this recovery plan is a case of irresponsible government spending; that it is somehow to blame for our long-term deficit projections, and that the federal government should be cutting instead of increasing spending right now. So let me tackle this argument head on.

To begin with, economists on both the left and right agree that the last thing a government should do in the middle of a recession is to cut back on spending. You see, when this recession began, many families sat around their kitchen table and tried to figure out where they could cut back. So do many businesses. That is a completely responsible and understandable reaction. But if every family in America cuts back, then no one is spending any money, which means there are more layoffs, and the economy gets even worse. That's why the government has to step in and temporarily boost spending in order to stimulate demand. And that's exactly what we're doing right now.

Second of all, I absolutely agree that our long-term deficit is a major problem that we have to fix. But the fact is that this recovery plan represents only a tiny fraction of that long-term deficit. As I will discuss in a moment, the key to dealing with our deficit and debt is to get a handle on out-of-control health care costs - not to stand idly by as the economy goes into free fall.

In Questions 4-8, you will use the Keynesian Aggregate-Demand Aggregate-Supply model with fixed nominal wage contracts to analyze some of the statements in President Obama’s speech.

4.   (15 pts)  Suppose an economy starts at potential real GDP.  On a graph of Aggregate Demand (AD), Short-run Aggregate Supply (SRAS), and Long-run Aggregate Supply (LRAS), indicate where the economy is producing, and what the price level is.  On your graph, show the short run effect of a severe drop in aggregate demand.  Explain why the drop in aggregate demand has the effect it does.

5.  (15pts)  Redraw your diagram from Question 4 below.  For this economy, which has suffered a severe drop in AD, consider what would happen in the short run if the government were to “in the middle of a recession…cut back on spending.”  Show that effect on your diagram below.  Explain what would happen and why.

6.  (15pts)  Again, redraw your diagram from Question 4 below.  For this economy, which has suffered a severe drop in AD, consider what would happen in the short run if the government were to “step in and temporarily boost spending in order to stimulate demand.”  Show that effect on your diagram below.  Explain what would happen and why.

7.  (20pts)  Again, redraw your diagram from Question 4 below.  For this economy, which has suffered a severe drop in AD, consider what would happen in the long run if the government decided to neither step in and boost spending nor cut back on spending.  Show that effect on your diagram below.  Explain what would eventually happen and why.  Recall that this AD-AS model assumes that credit markets are functioning normally.

8.  (15pts)  Does the AD-AS analysis in Questions 4-7 support President Obama’s contention that “the last thing a government should do in the middle of a recession is to cut back on spending”?    Explain your reasoning.

9.  (10pts)  Describe what you learned from the banking experiment that we ran in class on April 6.  This was the experiment in which there were two banks, four firms and eight households.
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